GR 11 TECHNICAL MATHEMATICS

QUESTION 5

PAST PAPER QUESTION MEMORANDUM

51
_ ¥ angle
C, = 40" (tan chord theorem ) ¥ reason
: v angle
D, =40 (tan chord theorem) < Teason
: y
A, =40° (alt£s: AD ] /BE) ‘,.EHE]E
! Teason
A, = A, =40" (given ADbisects CAB) ¥ angle
¥ Teason
B =4 =40" (s in same segment ) ¥ angle
' + reason
E"'I = ..-1' =40" (Zsin SiMe segment v angle
¥ reason
E= .JI =40 (correspss  AD//EB v angle
¥ reason
(14)
52 180" —(E+ B,) = sumof Zsaf A
: P e
A, =180° (40" +40°) sumof £sinAis
180
= 180" — 80"
=100"
¥ answer
(2}
[16]




GR 11 TECHNICAL MATHEMATICS

QUESTION 6

PAST PAPER QUESTION MEMORANDUM

6.1

InALPN and ALMN
1)PN = NM given
N, =90° £ Insemicircle
,";.", =N, adjsuplangles
="
JVLN iz common
= ALPN = ALMN  (845)

¥ given
v

Zsinsemi | circle
¥ Syonasirline

¥ common side

=112"
OR

KOP =56" + 56"
=112"

f;, =28"+28"  ext.Z=sumof opp.int £

KOP = il + E': ext. £ =sumof opp.int £

= LPN = 28" ¥ §AS
v Answer
(6)
62 | K +K,=9%" p
KPM =180" —(90° +28")  sumof Z's of A Jsinsemi | circle
=180" -118"
— g2 * sumaf £5 inA
Pl = 62" — 2R°
= KP0=62"-28 340
=34
= KOP=180"—(34° +34°)  sumof £'s of A v sumaof £s in A
_ i _ ]
= 180" 68 ¥ answer

¥ statement and
reason
" statement and
reason
¥ answer

(3)
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GR 11 TECHNICAL MATHEMATICS

QUESTION 7

PAST PAPER QUESTION MEMORANDUM

711 | OB=EB=x+8 radii Y answer (1)
T.1.2 In AOBD
ODB =90" line from centre to midpoint of the chord :?ﬂ” |
OD® + DB® = OB Pythagoras theorem fs::l-::-l )
' +12° = (x+8)°
144 = 1 6x + 64
lox=80=x=35 * answer
SR =5+8=13cm ()
7.2.1 x = 180" — (68" +68") e
. | sumof Zsof A
=180° - 136" rmel el
= 44° Y Answer
(3)
722 B = 32" tan chord theorem Vi o
theorem
r=180" — (36" + 32"
) | (367 +327) v sumof Zsof A
= 180" — 6% v Answer
=112" G




